. EEEEEREREREEERRRRRE.

\;

=

f

(1)
2]

\

e

50cm
0.05ny € 13.8

0. 69Ny

(1) 2
0.0lny £ 87

(2} 3
0.0lng £ 110
50cm

0.0lny £ 1.6

0. 016Ny

0.87ny ¢

11lng &€

e

13

13

23

|
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
|

o aeymnm

4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
)



4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
)

100
10

2

SRS EEEREEERREREERERERE:

10

innnnn

3

-

EEREEEEEEEEREREERERERE:

CHE < <0 < <P < < < < < < <8 <8 < <8 < <8 <8 <8 <8 <8 <8 <8 <8 < < <R < <R <



